THE DEGREE OF CONSISTENCY BETWEEN THE POSSIBILITY AND PROBABILITY

Cao Wenmin

Hanjing city worker University, Jiangsu, Hanjing, 210005, Zhongshan East-road MO.54

Jiangsu Province

China (PRC)

Abstract

In present paper, we first introduce the concepts of the consistency distribution between the possibility distribution and probability distribution, the noninteractional consistency distribution and the orthogonal consistency distribution. Then some basic properties are discussed. Next step, the degree of the consistency, the conditional degree of the consistency, and the independence of consistency distribution are defined in turn. And some properties of interest are also our topics.

Keywords: Possibility distribution, Probability distribution, Consistency distribution, The degree of consistency.

1.Preliminaries

Let X be an at most countable set, mapping

$$p:X\mapsto [0,1]$$

is a probability distribution on X.

$$\pi: X \rightarrow [0,1]$$

is a possibility distribution. It is called normal possibility distribution when $\bigvee_{x \in X} \pi(x) = 1$

Let PS(X) denote the family of normalized possibility distribution over X, PR(X) denote the family of probability distributions over X. We know the simultaneous existence of both kind of information about X, a probability and possibility distribution, and the question about the relation between them arises at once. For these situation Zadeh [6] established the possibility-probability consistency principle: the degree of consistency between the possibility distribution and the probability distribution is expressed by

$$C_{\mathbf{Z}}(\eta, \mathbf{p}) = \sum_{\mathbf{x} \in \mathbf{X}} \pi(\mathbf{x}) \mathbf{p}(\mathbf{x})$$

Definition 1.1: Let T: $[0,1] \times [0,1] \rightarrow [0,1]$ be a function, T is called a t-seminorm, if and only if it fulfills the properties:

- (1) T(1,x) = T(x,1) = x, for all x of [0,1].
- (2) If $x_1 \le x_2$ and $y_1 \le y_2$ then $T(x_1, y_1) \le T(x_2, y_2)$.

Clearly, $T_0(x,y) = xy$, $T_1(x,y) = xAy$ are t-seminorm.

Definition 1.2: Let $T: [0,1] \times [0,1] \longrightarrow [0,1]$ be a function, T is called a t-semiconorm, and only if it fulfills the properties:

- (1) $\perp (x,0) = \perp (0,x) = x$, for all x of [0,1]
- (2) If $x_1 \leq x_2$ and $y_1 \leq y_2$ then $L(x_1, y_1) \leq L(x_2, y_2)$.

It is easy to see that \bot is a t-semiconorm if and only if there exist a t-seminorm T such that $\bot(x,y)=1-T(1-x,1-y)$. Clearly, $\bot_0(x,y)=x+y$, $\bot_1(x,y)=xvy$ are t-semiconorm.

The t-norm and t-conorm concepts of Schweizer and Sklar, see [5], turn out to be special cases of the previous definitions.

2. Consistency distribution

Definition2.1: Let $\pi \in PS(X), p \in PR(X)$, mapping

$$C(\pi(x),p(x)): \pi_X p \rightarrow [0,1]$$

$$C(\pi(x),p(x)) \triangleq T(\pi(x),P(x))$$

is called consistency distribution over X between possibility distribution π and probability distribution p. Where T is t-seminorm. Clearly, $C_Z(\pi,p) = \sum_{x \in X} T_O(\pi(x),p(x))$.

Let $\mathcal{C}(X)$ denote the family of consistency distribution over X. and $C(\pi(x),p(x))=C(\pi,p)$ (or briefly C).

Proposition2.1: Consistency distribution have the following properties $(1)\lambda\in[0,1]$, C_1 , $C_2\in\mathcal{C}(X)\Longrightarrow\lambda C_1+(1-\lambda)\cdot C_2\in\mathcal{C}(X)$.

$$(2) \quad \mathsf{C_1} \in \mathcal{E}(\mathsf{X}) \ , \mathsf{C_2} \in \mathcal{E}(\mathsf{X}) \Longrightarrow \quad \mathsf{Min}(\mathsf{C_1},\mathsf{C_2}) \in \mathcal{E}(\mathsf{X}), \ \mathsf{Max}(\mathsf{C_1},\mathsf{C_2}) \in \mathcal{E}(\mathsf{X}).$$

(3) $C \in \mathcal{C}(X)$, $g(s): [0,1] \longrightarrow [0,1]$ is a strictly monotone increasing continuous function with g(0)=0, g(1)=1, and G(s) is inverse function of g(s), then

$$C(\pi,p) = G(C'(g(\pi),g(p))) \in \mathcal{E}(X).$$

Besides, if

$$C'(C'(a,b),c) = C'(a,C'(b,c))$$

then

$$C(C(a,b),c) = C(a,C(b,c))$$

Proof: Straightforward.

Proposition2.2: Let $C(\pi_1, p) \in \mathcal{E}(X), C(\pi_2, p) \in \mathcal{E}(X)$, if for any a $\in X$, $\pi_1(a) \geq \pi_2(a)$, then $C(\pi_1, p) \geq C(\pi_2, p)$.

Proposition2.3: Let $C(\pi,p_1) \in \mathcal{E}(X)$. $C(\pi,p_2) \in \mathcal{E}(X)$, if for any $a \in X$, $p_1(a) \geq p_2(a)$, then $C(\pi,p_1) \geq C(\pi,p_2)$.

The proof of proposition2.2 and 2.3 are obvious.

Let $X = \{ x_i | i \in \mathbb{N} \}$, for any $\pi \in PS(X)$, $p \in PR(X)$, it is clear that $\{ \pi(x) \}$ and $\{ p(x) \}$ are at most contable sets. If $C \in \mathcal{C}(X)$, then $\{ \mathbf{G}(\pi, p) \}$ is also an at most contable set. Let $\sum_i b \in \mathbb{A}$ and $\{ r \in \mathcal{C}(X) \}$ of subsets of $\mathcal{A}_i = \mathcal{C}(X)$.

 $\left\{ \pi(\mathbf{x_i}) \middle| \ \mathbf{i} \in \mathbb{N} \right\} \text{ and } \sum_2 \mathbf{a} \ \sigma\text{-algebra of subsets of } \mathcal{N}_2 = \left\{ \mathbf{p}(\mathbf{x_i}) \middle| \ \mathbf{i} \in \mathbb{N} \right\} \text{,}$ then $\sum = \sum_1 \mathbf{x} \sum_2 \mathbf{i} \mathbf{s} \ \mathbf{a} \ \sigma\text{-algebra of subsets of } \mathcal{N} = \mathcal{N}_1 \mathbf{x} \ \mathcal{N}_2 \text{.}$

Proposition2.4: Let $\pi \in PS(X)$, $p \in PR(X)$, then

$$\mathcal{B} = \left\{ x \mid (\pi, p) \in \Sigma \right\}$$

is a O-algebra on X.

Proof: First, since $\Lambda_1 \in \Sigma_1$, $\Lambda_2 \in \Sigma_2$, hence

$$X = \{ x | \pi(x) \in \mathcal{L}_1, \forall x \in X \}$$

$$= \{ x | p(x) \in \mathcal{L}_2, \forall x \in X \}$$

$$= \{ x | \pi(x) \in \mathcal{L}_1, p(x) \in \mathcal{L}_2, \forall x \in X \}$$

Besides

$$\{(\pi,p) \mid \pi(x) \in \Omega_1, p(x) \in \Omega_2, \forall x \in X\} \in \Sigma$$

tnat is

$$\{(\pi,p) \mid (\pi,p) \in \Lambda \} \in \Sigma$$

therefore

$$X = \{x \mid (\pi, p) \in \Omega\} \in \mathcal{B}, \text{ (because } \Omega \in \Sigma \text{)}$$

Next ,let $\Lambda \in \mathcal{F}$,then

$$\{(\pi,p) \mid x \in \Lambda\} \in \Sigma$$

because

$$\{(\pi,p) \mid (\pi,p) \in \Lambda \} \in \Sigma$$

hence

$$\{(\pi,p) \mid (\pi,p)\in \mathbb{A}\} - \{(\pi,p) \mid x \in A\} \in \Sigma$$

then, we have

$$\overline{A} = X - A = \left\{ x \left| \left\{ (\pi, p) \right| (\pi, p) \in \Omega \right\} - \left\{ (\pi, p) \right| x \in A \right\} \right\} \in \mathcal{B}.$$

Finally, let $B_i \in \mathcal{B}$, $i \in N$, owing to Σ is a \mathcal{O} -algebra, hence we have $\bigcup_{i=1}^{\infty} \left\{ (\pi,p) \mid x \in B_i \right\} \in \Sigma$

and

$$\begin{cases} x \mid \bigcup_{i=1}^{\infty} \{(\pi, p) \mid x \in B_i\} \in \Sigma \end{cases} \in \mathcal{B}$$
that is
$$\bigcup_{i=1}^{\infty} B_i \in \mathcal{B}.$$

Therefore \mathcal{G} is a \mathcal{C} -algebra on X. The proof is finished. (X,\mathcal{G}) is called a measurable space.

Definition2.2: $C \in \mathcal{E}(X)$ is said to be Σ -measurable, if and only if $\{(\pi,p) \mid C(\pi,p) \in [0,\alpha]\} \in \Sigma$

for each $d \in [0,1]$.

Proposition2.5: Let C_1 and C_2 are Σ -measurable consistency distribution, then $C_1 \vee C_2$ and $C_1 \wedge C_2$ are also Σ -measurable consistency distributions.

Proof:Using proposition2.1 (2),we may get $C_1 \lor C_2$ and $C_1 \land C_2$ are consistency distribution. The next only to show they are \sum -measurable.

Since X is an at most countable set, hence $\{C_1 \lor C_2\}$ is also an at most countable set, therefore, for each $d \in [0,1]$, we have

$$\{(\pi,p) \mid c_1 \vee c_2 \in \{0,\alpha\}\} = \bigcup_{k} \{(\pi_{ik},p_{ik})\}$$

where
$$\pi_{ik} = \pi(x_{ik})$$
, $p_{ik} = p(x_{ik})$.

We denote

$$c_1(\pi_{ik}, p_{ik}) \lor c_2(\pi_{ik}, p_{ik}) = m_k,$$

$$M_k = \{(\pi, p) \mid c_1 \lor c_2 \in [0, m_k]\}$$

obviously,

$$0 \le m_k \le \alpha$$
, $N_k = \bigcup_{j} \{ (\pi_{ikj}, p_{ikj}) \}$

Besides, owing to

$$\mathbf{c}_{1}(\boldsymbol{\pi}_{\mathrm{ikj}},\mathbf{p}_{\mathrm{ikj}}) \vee \mathbf{c}_{2}(\boldsymbol{\pi}_{\mathrm{ikj}},\mathbf{p}_{\mathrm{ikj}}) = \begin{cases} \mathbf{c}_{1}(\boldsymbol{\pi}_{\mathrm{ikj}},\mathbf{p}_{\mathrm{ikj}}), & \mathbf{c}_{1} \geq \mathbf{c}_{2} \\ \mathbf{c}_{2}(\boldsymbol{\pi}_{\mathrm{ikj}},\mathbf{p}_{\mathrm{ikj}}), & \mathbf{c}_{1} \neq \mathbf{c}_{2} \end{cases}$$

and \mathbf{C}_1 , \mathbf{C}_2 are Σ -measurable, hence

$$\left\{ (\pi_{ikj}, p_{ikj}) \right\} \subset \left\{ (\pi, p) \middle| c_{t}(\pi_{ikj}, p_{ikj}) \in [0, m_{k}], t=1, 2 \right\} \in \Sigma$$

Therefore

$$M_{k} = \bigcup_{j} \left\{ (\pi_{ikj}, p_{ikj}) \right\} \in \Sigma$$

and

$$\{(\pi,p) | c_1 \lor c_2 \in [0,\alpha]\} = \bigcup_{k} M_k \in \Sigma$$

That is $C_1 \lor C_2$ is Σ -measurable. For the case of $C_1 \land C_2$ one may give a similar proof.

Definition2.3: Let $\mathcal{R} \in PS(X)$, $p \in PR(X)$, consistency distribution C is said to be noninteraction, if and only if

$$C(\pi(x), p(x)) = T_1(\pi(x), p(x)) \qquad \forall x \in X$$

In this time, we also called that possibility distribution π and probability distribution p are noninteraction.

Definition2.4: Let $\pi \in PS(X)$, $p \in PR(X)$, consistency distribution C is said to be orthogonal consistency distribution, if and only if

$$C(\pi(x), p(x)) = \bot(\pi(x), P(x)) \quad \forall x \in X$$

In this time, we also called that possibility distribution π and probability distribution p are orthogonal.

It is easy to see that if $\pi(x) = 0$, then for any $p(x) \in PR(X)$, $C(\pi,p) = \bot(\pi,p) = p$; if p(x) = 0, then for any $\pi(x) \in PS(X)$, $C(\pi,p) = \bot(\pi,p) = \pi$. In this both case, the possibility distribution π and the probability distribution p are called strict orthogonal.

Definition 2.5: $\pi(x) \in PS(X)$ is called S-measurable, if and only if for any $d \in [0,1]$

$$\{x \mid \mathcal{T}(x) \in [0, \alpha]\} \in \mathcal{E}$$

Definition 2.6: $p(x) \in PR(X)$ is called \mathcal{B} -measurable, if and only if for any $\alpha \in [0,1]$

$$\{x \mid p(x) \in [0, \alpha]\} \in \mathcal{B}$$

Proposition 2.6: If consistency distribution $C(\pi,p)$ is noninteraction and Σ -measurable, then $\pi(x)$ (p(x)) is β -measurable.

Proof: Since $\{\mathfrak{N}(x)\}$ is an at most countable set, hence for each $\alpha \in [0,1]$, we have

$$\{x \mid \pi(x) \in [0,\alpha]\} = \bigcup_{k} \{x_{ik}\}$$

We denote $\mathcal{T}(x_{ik}) \land p(x_{ik}) = 1_k$, that is $C(\mathcal{T}(x_{ik}), p(x_{ik})) = 1_k$, obviously, $0 \le 1_k \le 1$. Denote $M_k = \{(\pi, p) \mid C(\pi, p) \in [0, 1_k]\}$, owing to

C(π ,p) is Σ -measurable,hence $M_k \in \Sigma$, using proposition2.4, we have $\{x_{ik}\} \subset \{x \mid (\pi,p) \in M_k\} \in \mathcal{B}$

therefore

$$\bigcup_{k} \{x_{ik}\} \subset \bigcup_{k} \{x \mid (\pi, p) \in M_{k}\} \in \mathcal{B}$$

that is

$$\{x \mid \pi(x) \in [0, \infty]\} \in \mathcal{B}$$

Hence $\Re(x)$ is \mathcal{B} -measurable, similar, p(x) is also \mathcal{B} -measurable. Proposition 2.7: Let $\Re(x) \in PS(X)$, $p(x) \in PR(X)$, then

$$C(\pi,p) = 1 - \pm (1 - \pi, 1 - p) \in E(X)$$

Proof: For this we have only to show that $C(\pi,p) = T(\pi,p)$.

$$C(1,p(x)) = 1 - L(0,1-p(x))$$

$$= 1 - (1-p(x))$$

$$= p(x).$$

$$C(\pi(x),1)=1 - L(1-\pi(x),0)$$

$$= 1 - (1-\pi(x))$$

$$= \pi(x).$$

If $\pi(x_1) \leq \pi(x_2)$, $p(y_1) \leq p(y_2)$

then

$$1-\pi(x_1) \ge 1-\pi(x_2)$$
, $1-p(y_1) \ge 1-p(y_2)$

hence

$$\perp (1 - \pi(x_2), 1 - p(y_2)) \leq \perp (1 - \pi(x_1), 1 - p(y_1))$$

SO

$$1 - \bot (1 - \pi(x_2), 1 - p(y_2)) \ge 1 - \bot (1 - \pi(x_1), 1 - p(y_1))$$

that is

$$C(\pi(x_1),p(y_1)) \leq C(\pi(x_2),P(y_2))$$

Therefore $C(\pi,p) \in \widehat{\mathcal{E}}(X)$. The proof is finished.

3. The degree of consistency

Definition3.1: Let (X, β) is a measurable space, $C \in \mathcal{E}(X)$ is Σ -measurable, we define

$$P(C) = \int_{A} C(\pi(x), p(x)) dP$$

and name the quantity the degree of consistency between the possibility distribution π and probability distribution p.

Where
$$P(A) = \sum_{x \in A} p(x)$$
 $\forall A \in \mathcal{B}$

It is analogous to the Zadeh's probability of fuzzy events, we have

1. If $C \in \mathcal{E}(X)$ is Σ -measurable ,then $O \subseteq P(C) \subseteq 1$.

2. If $C(\pi,p) = 1$, then P(C) = 1.

3. If
$$C_1(\pi,p) \leq C_2(\pi,p)$$
, then $P(C_1) \leq P(C_2)$.

Proposition3.1: Let $C_1 \in \mathcal{E}(X)$, $C_2 \in \mathcal{E}(X)$ are Σ -measurable, then

$$P(C_1 \lor C_2) = P(C_1) + P(C_2) - P(C_1 \land C_2)$$

Proof: Since

$$P(C_{1} \lor C_{2}) + P(C_{1} \land C_{2}) = \frac{1}{X} (C_{1} \lor C_{2}) dP + \frac{1}{X} (C_{1} \land C_{2}) dP$$

$$= \frac{1}{X} [(C_{1} \lor C_{2}) + (C_{1} \land C_{2})] dP$$

$$= \frac{1}{X} (C_{1} + C_{2}) dP$$

$$= \frac{1}{X} (C_{1} + C_{2}) dP$$

$$= P(C_1) + P(C_2)$$

Hence

$$P(C_1 \lor C_2) = P(C_1) + P(C_2) - P(C_1 \land C_2).$$

Corollary3.1: If $C_1 \wedge C_2 = 0$, then

$$P(C_1 \lor C_2) = P(C_1) + P(C_2).$$

Proposition3.2: If $C \in \mathcal{C}(X)$ is Σ -measurable, then

$$P(1-C) = 1 - P(C)$$

Proof: Obvious.

Definition3.2: Let $\pi(x) \in PS(X)$ is \mathcal{B} -measurable, for arbitrary $p(x) \in PR(X)$, the marginal degree of consistency about π is defined by $P(\pi) = \sqrt[3]{\pi(x)} dP$

Proposition3.3: If $C(\pi,p) \in \mathcal{E}(X)$ is noninteraction and Σ -measurable, then

$$P(C) \leq P(\pi)$$

Proof: This is evident.

Proposition3.4: If $\pi \in PS(X)$ and $p \in PR(X)$ are strict orthogonal, and π ,p \mathcal{B} -measurable, then

$$P(C) = \begin{cases} P(\pi) & \pi(x) \neq 0 \\ 1 & \pi(x) = 0 \end{cases}$$

Proof: Obvious.

4. Conditional degree of consistency and independent

Definition4.1: Let $C_1 \in \mathcal{E}(X)$ and $C_2 \in \mathcal{E}(X)$ are Σ -measurable, if $P(C_2) > 0$. $P(C_1 | C_2) \triangleq \frac{P(C_1 \cdot C_2)}{P(C_2)}$

is called coditional degree of consistency about \mathbf{C}_2 .

Definition 4.2: Let $C_1 \in \mathcal{E}(X)$ and $C_2 \in \mathcal{E}(X)$ are Σ -measurable, C_1 and C_2 are said to be independent each other, if and only if

$$P(C_1 \cdot C_2) = P(C_1) \cdot P(C_2)$$

It is analogous to the conditional probability, we have

1. If
$$C_1 = 1$$
, then $P(C_1 | C_2) = 1$

2.
$$0 \le P(C_1 | C_2) \le 1$$

3.
$$P(C_1 + C_2 | C_3) = P(C_1 | C_3) + P(C_2 | C_3)$$

Proposition 4.1: If $P(C_2) > 0$, then $C_1 \in \mathcal{E}(X)$ and $C_2 \in \mathcal{E}(X)$ are independent if and only if $P(C_1 | C_2) = P(C_1)$.

Proof: This is evident.

References

- [1]. M. Delgado and S. Moral, On the concept of possibility-probability consistency, Fuzzy Sets and Systems. 21 (1987) 311-318.
- [2].F. Suarez García and P.Gil Alvarez, Measures of fuzziness of fuzzy events, Fuzzy Sets and Systems. 21(1987), 147-157.
- [3]. S. Weber, Measures of fuzzy sets and measures of fuzziness, Fuzzy Sets and Systems, 13(1984) 247-271.
- [4].M.Sugeno, Theory of fuzzy integrals and its application, Ph.D. Thesis, Tokyo, Institute of Technology (1974).
- [5].B.Schweizer and A.Sklar, Associative functions and abstract semi-groups, Pub. Math. Debrecen , 10(1963) 69-81.
- [6].L.A.Zadeh, Fuzzy sets as a basis for a theory of possibility, Fuzzy Sets and Systems, 1(1978), 3-28.
- [7]. Hua Wenxiu, A note on the noninteractive fuzzy relations, Fuzzy Mathematics (in China), 4(1985).
- [8]. Hua Wenxiu, On some properties of gmeasures, BUSEFAL, 26(1986) 47-56.
- [9]. Hua Wenxiu, Extension theorem of some fuzzy measure, BUSEFAL, 31(1987) 63-7.
- [10]. Hua Wenxiu, The properties of some non-additive measures, Fuzzy Sets and systems, 27(1988).